B2

BFHYEPTIRART—Y S8RAHART Y a1—ILEK

B8 NiEH KiEH ANiEB #iEB = BiE8
9:20~ BC I BC FE BC INEA BC 2= BC 18 720~ CD =S8 CD RE
1060 DE BWE CD JaiEr CD 2= CD =58 CD F2 850] DE INWAR E e
1100~ | BC BWE AB JaiEr BC 2= BC =58 AB 2= 9.00~ BC B BC 2Z
12:30] CD I CD 2Z CD INEA CD 2= CD F2 10:30] CD 18 CD e
1240~ | CD BWE CD INWA BC INEA CD =28 BC FZ 1040~ | AB B BC e
1410] DE N DE JaiEr CD 2= DE SH CD 18 12101 CD NN DE I
1420~ .‘ = 5 F INWA D INWIAR F 2E D 2E 1220~ | BC B CD i)
15:50 [l CD B cD | =H 1350 DE | mwmw | E =iz
6054 PLEE PLZE
1550~ K INWA ‘ K 22 ‘ K — ‘ K 15 1200~ | BC MR BC MR
1630 ..............................................................................................
P E P E P B P B P B 1530 DE f‘f CD E‘%
1630~ | Lok | mwmw |JLwr 22 Lwk [ mww [rwr 22 Lw R I ‘ "
17:30] 7L 1 15 U1 5 ZU 1 22 ZU 1 = ZFU1 15 15:30~ K 5 K 5
1730~ | #L 1 INWA ZL I INWIA ZL I 258 ZFU I ] ZU I 5 1610l
18:30| 7U—> 15 Jgy—=> 15 gyU—y INA R, 825 gY—y == ’ PLE PLEE
1830~ | rzo- =) ZUI INUAR «IOo-— BRE «IO- BREB 4TO- I 1610~ | Ly R INUAR Ly R =)
1930 vora | INUK YD FA 18 VT RA 822 JgU—-y 2= 1710] ZU 1 I ZU1 £=E
, \ ; - \ _ 1710~ | 7L 1 I U T 22
1940~ |vorB| NWUA BC RE BC NI AB = VDB 18 g0l 50 S T w505 T T
2410 vors | IMUK CD EREA DE 8REA CD IV 1810~ | rzo-| Tz |rIo-) ] =
1910 VI A =) VI RA IR
2120~ BC 15 AB INLA BC B8R BC 5
1920~ | AB FZ AB INWA
22:50 CD INWA DE B CD SH DE Iy
20501 DE IV CD 5
KZHEDI SR« I—FIIEBBICRDBDBENCNET, CBaRLIEE0), 2100~ | BC N DE INWA
-6057\4%/ﬁ§§i@1/y7\‘/f~‘a“ 7T AFERFMY o —FEEEFH T 22:30] CD 18




